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each Section contains 50 Questions. Section
‘D’ has two Parts. In this Section Question
Nos. 151-170 are of English, compulsory for
all. For Question Nos. 171-200 candidate has
to select either Sanskrit or Hindi. Any
complaint regarding the booklet will be
entertained within 15 minutes from the
commencement of the Test.
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EAERE o tﬂ{ﬂ\?{ | ) ) O.M.R. answer sheet for filling the answers.
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be of the candidate.
e :
. fl et v # | NS
. . . the questions are compulsory.
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NKP-2018 (Series-D) Page 1 of 32




Part-A/A9137—3]
MENTAL ABILITY/ 9=f1a ai7=adr

Directions (Q. No. 1 - 3):

In a school, there were five teachers. A and B were teaching Hindi and English. C and B were
teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B
were teaching History and French.

fader: @41 — 3):

s fdermera # g Riegd o) A 3R B 2= 3R 3RISH Ul 38 9| C 3R B 3l 3R
UeT %8 | D 3R A TG 3R &€l uer %8 | E 3R B sfder iR %9 Uer I8 o |

1. Who among the teachers were teaching maximum number of subjects?

(A) A (B) B C) C (D) D
Rerel § | sfrdmaw favg &9 uer @ a7
(A) A (B) B € C (D) D
2. Which of the following pairs was teaching both Geography and Hindi?
(A) Aand B (B) BandC (C) Cand A (D) None of these

= BN e &R =) S uer @ o
(A) A 3R B (B) B 3R C (C) C 3R A (D) S8 9 PIS A8l

3. More than two teachers were teaching which subject?

(A) History (B) Hindi (C) French (D) Geography
¥ s Retd wiFar fawg ugr 8 a7
(A) frerd B) f&d (©) (D) et

Directions (Q. No. 4 - 5): _ o _
Arrange the given words in a meaningful sequence and identify the most appropriate sequence
from amongst the alternatives.

fder: (WE. 4 — 5) :
fau g el @I U aedyei wmH H SHsd iR fy MU fadwenl H ¥ Walfde Sugdd B Bl

Fafga ST |
4. (i) Appendix (i1)) Contents (i11) Title
(iv) Chapters (v) Introduction
(A) i, i, v,i,iv. (B) i, i, 1v,v,1 (C) v,i,1v,ii, 11 (D) 1,1, v, iv, 1
(i) uRRre (ii)  STIEhHMOTRT (i) INY®
(iv) I (v) uR=™
(A) i, i, v,i,iv - (B) i i, iv, v,i (C) v, i, v, i1, 11 (D) iid, ii, v, 1v, 1
5. (1) Punishment (i1)  Prison (111) Arrest
(iv) Crime (v)  Judgement
(A) v, i,ii,1i1,1iv - (B) 1iv,iii, v, ii, i (©) iv,iil, v, 1,11 (D) ii,iii,i,iv, Vv
() o (i) g (i) RTR
(iv) STURT (v) faoia
(A) v, i1, 1i1,1iv - (B) 1iv,iii, v, ii, i (©) iv,iii, v, 1,11 (D) ii,iii, i, 1iv, v
6. How many times in a day, the two hands of a clock are at 90°?
(A) 4 B) 12 < 22 (D) 44
g e # fhae R, g & T BT 90° W B 87
(A) 4 B) 12 (C) 22 (D) 44
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10.

Directions (Q. No. 7 - 10):

In each of the following questions, two statements 1 and 2 are followed by two conclusions 1
and 2. Read the conclusions and then decide which of the given conclusions logically follows
from the two given statements.

(A) If only Conclusion 1 follows (B) If only Conclusion 2 follows

(C) If either Conclusion 1 or 2 follows (D) If neither Conclusion 1 or 2 follows

fader - mE. 7 — 10) -

T ey W ud® ued H U 1 @R 2 & 1€ ey 1 @R 2 § | faswst @1 ufgu ek
ol Y 6 s el fag 1T Q1 doAl & ok R d&Ed © |

(A) IT dad ey 1 T8 B (B) Ife daat frepy 2 9T 2
(C) Ife fspd 1 I1 2 ALY B (D) 3Ife fspy 1 3R 2 THf T &
Statements : All fans are watches.

Some watches are black.
All watches are fans.
Some fans are black.

i v, afet g
Fo TS Brell & |
w41 afedf o 2|
BB U BT ¢ |
All grasses are trees.
No tree 1s shrub.

No grasses are shrubs.
Some shrubs are grasses.

aft a1 g8t € |

Pl g8l SIS T8l 8 |
BTE TN TSN A 2 |
®O ST T4 B |

1.
2
Conclusions: 1
2

1

2

1

2

1

2

1

2

1

2

1

2.

Statements : 1.  Some boys are thieves.

2

1

2

1

2

1

2

1

2

1

2

1

2

1

2

DY :

ey

Statements :

Conclusions:

DY :

foreepyy

Some students are boys.
Some boys are dacoits.
All dacoits are boys.
HY D AN T |

®B e faemedt §|
HO STh, ASD ¢ |

T ST, TS © |

No man is a donkey.
Rahul is a man.

Rahul is not a donkey.
All men are not Rahul.
B A SMEH 77 8l B |
T 3MEHT 7 |
NESRICIICR

|1 ITTeHl g TRl 2 |

Conclusions:

DY :

ey

Statements :
Conclusions:
‘D :

fspy -
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Directions (Q. No. 11 to 13):
In each of the following questions, a set of figure carrying certain characters is given. Assuming
that the characters in each set follow a similar pattern, find the missing character in each question.

fader 1. 11 9 13)
o R T I ue H S i # A idl BT Ag 2| T8 Houdl Y R udw
e el MlRea Yes ¥ oa %81 © S & &9 H ad 8U YD U BT Bl Bl 3d S

HIFTY |

11.
4 7
5 1 64 3
11
(A) O (B) 8 (C) 125 (D) 216
12.
/s AN AN
4 5 10
(A) 14 B) 22 (C) 32 (D) 320
13. Q
) o
@1) (19
(A) 123 (B) 124 C©) 122 (D) 112

14. There are five different houses A to E in a row. A is to the right of B and E is to the left of C
and right of A. B is to the right of D. Which of the houses is in the middle?

(A) A (B) B € C (D) D

Org a1 A% A W E &l v Ufid ¥ €1 A, B S SR TR E, C & IR TN A &
TR €1 B,D & TR B | ®IFAT HHH 99 H &8°

(A) A (B) B ) C (D) D
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15.

16.

17.

18.

19.

In an examination Raj got more marks than Mukesh but not as many as Priya, Priya got more
marks than Gaurav and Kavita. Gaurav got less marks than Mukesh but his marks are not the
lowest in the group. Who is second in the descending order of marks?

(A) Priya (B) Kavita (C) Raj (D) Mukesh

frefl WRierm # IS 7 gD | SA1ET i ura fhd Afd Saw e foaw B |9, R 7 ke
3R B | SITET i U<l B | TRT 1 G« H HH 3 U< [Hd Afb IHqD 3P e
H HeH P E 2 | 3Pl Bl gfic | Hed HH W SN TR I TEY I TR 3T |

(A) fram (B) e (C) (D) Fbwr

Looking at a portrait of man, Harsh said, “His mother is the wife of my father’s son. I have no

brother and sister”. At whose portrait was Harsh looking?

(A) His son (B) His Cousin

(C) His Uncle (D) His nephew

TEH EH @ fIF &) IR <@ Y 8Y o HET D! AT W arh & gF @ ufq g1 W
PIg ATg AT g8 78l © | By fbds &7 &1 R < <& o1

(A) SH& gF Bl (B) SU® TR I8 DI

(C) S ATl Bl (D) SED ol B

By selling an article for ¥ 110, a man loses 12%. For how much should he sell it to gain 8%?
(A) 120 B) X125 (C) X135 (D) %140

el a%g @I 110 IH & WR 12% 1 Bl Bl § | 59 a%g WR 8% T o o1 & oy S
fha SU | T Sg?

(A) %120 (B) 125 (C) 135 (D) %140

The price of an article has been reduced by 25%. In order to restore the original price, the new
price must be increased by how much percent?

(A) 12% (B) 33%% (C) 25% (D) 30%

Pl a%g &1 I 25% b AT B | 39 T Jed H fhaq ufera &1 gfg @1 Sy & g
I I BT SIY?

(A) 12% (B) 33%% C) 25% (D) 30%

If EAT is written as 22 26 7, how will you write LIP?

(A) 151416 (B) 141710 ©) 91211 (D) 151811
Ife BEAT &1 22 26 7 for@m SQ @1 LIP &1 &4 forar sgn?

(A) 151416 (B) 141710 ©) 91211 (D) 151811
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20.

21.

22,

23.

24.

25.

26.

27.

Mohan is 4 times as old as Shyam. If the difference of their age is 9 years, how old is Mohan?
(A) 15 years (B) 12 years (C) 14 years (D) 9 years

AIEd B MY M A IR AT 2| AR IET DY AW HT 3R 9 9 &1 dl A b a9 &7
g?

(A) 15 9§ (B) 12 @¥ (C) 14 ¥ (D) 9 a¥

Directions (Q. No. 21 to 25):

Identify the logic between first two terms of left side portion of sign :: in following questions
and apply same logic on Right side portion of sign :: and find correct alternatives for each
question.

fader U, 9. 21 9 25) -

I e Ty § e (2) & 9 R S UE © U dd Bl UgAi=g del db IAd
ged H g (x) & I OR% dTel QFI Y&l IR AR &R UAd 999 & oy Hal fdded &1 a9
BT |

ACE:ZXY :FH):

(A) SOQ (B) USP (C) TRP (D) USQ
BYW :DWU :: FUS :

(A) HSQ (B) EST (C) GST (D) ESQ
MORE : NNSD :: CRAW :

(A) DQAV (B) DAPQ (C) DQBV (D) GQAL
MONKEY : XDJIMNL :: TIGER : __

(A) QDFHS (B) SDFHS (C) SHFDQ (D) UJHFS

CIGARETTE : GICERAETT :: DIRECTION :
(A) RIDTCENOI (B) NORTECDII (C) NOIETCRID (D) IRDCTIONE

If air is called green, green is called blue, blue is called sky, sky is called yellow, yellow is
called water and water is called pink, then what is the colour of clear sky?

(A) Blue (B) Sky (C) Yellow (D) Water

el SQ AT Gol /AT AR BT FT a1 BRIT?

(A) T (B) 3fThrer (C) dremm (D) Ul

In a certain code ‘786" means ‘study very hard’, ‘958" means ‘hard work pays’ and ‘645’
means ‘study and work’. Which is the code for ‘very’?

(A) 8 B) 6 ©) 7 (D) 4

frdl Mf¥ea ®Is | ‘786" @1 S I BT’ ‘958" I BIS 9 UGl AR 645" D WLl YU
g’ HET S dl ‘NI’ & oIy &1 e sRm?

(A) 8 B) 6 <) 7 (D) 4
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28.

29.

30.

31.

32,
33.
34.

K- -
36.

3.

If 15 January 2004 was a Sunday then what was the day of 15 January 2003 -

(A) Monday (B) Saturday (C) Friday (D) Tuesday
Ife 15 STa) 2004 BT IFAIR AT T 15 STTA™T 2003 BT T IR SHIT?
(A) WHAR (B) wIfar (C) YePaR (D) HITAR

Directions (Q. No. 29 - 31):

In the following questions, three of the four are alike and so form a group, which is the one
that does not belong to that group?

fader : 4. 29 — 31):

fFrifesd ool | 09 § 9 IR U O § 3IR SIfely U |98 a1 2 | DIl © Sl 998
BT T8l 87

(A) Parrot (B) Koel (C) Vulture (D) Swan

(A) dra (B) @I ©) frg (D) &9

(A) Haryana (B) Gujarat (C) Kerala (D) Maharashtra
(A) BRamm (B) TSRId (C) @ (D) AERTY
(A) Potato (B) Coriander (C) Ginger (D) Onion

(A) 3Tef (B) gfar (C) IRD (D) @

Directions (Q. No. 32 - 35):

In the following questions, choose the odd numeral pair.
fader - (wH. 32 — 35):

Frrifed T §, oiw} & I @ Rifed AR

(A) 140-45 (B) 110-35 (C) 100-30 (D) 80-25
(A) 133-98 (B) 150-115 (C) 182-40 (D) 188-153
(A) 12:96 (B) 13:117 (C) 15:120 (D) 16:128
(A) 15-46 (B) 12-37 (C) 9-28 (D) 8-33
College is related to student in the same way as Hospital is related to............ ?
(A) Doctor (B) Nurse (C) Treatment (D) Patient
AeTfaened &1 faemeil | a1 € Hde & S SRUATA & oo | 8?7

(A) Sfaex B) T4 (C) oI (D) Al
Signal : Traffic :: 7 : ?

(A) Dam : River (B) Lens: Light

(C) Door: House (D) Operation : Doctor

e - Sfthes = 2 ?

(A) @ : a1 (B) o : Yprer

(C) <XATST : HHM™ (D) SIfIREA : Sfdex
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38.

39.

40.

41.

42.

43.

44.

45.

46.

MxN:13x14::FxR:?

(A) 7x19 (B) 5x17 (C) 14x15 (D) 5x18
BUCKET : ACTVBDJLDFSU : : BONUS : ?

(A) ACMNMOTVRT (B) SUNOB

(C) ACNPMOTVRT (D) ACMNMOTURT

If in a certain language A is coded as 1, B is coded as 2 and so on, how is BIDDIC coded?

(A) 294493 (B) 284563 (C) 375582 (D) 394492

e fHdl w91 H A BT e | & B &I e 2 & 3R 3T 1 ¢ &1 &, dl BIDDIC &T ¢
FAT BIT?

(A) 294493 (B) 284563 (C) 375582 (D) 394492

If A is to the south of B and C is to the east of B, in which direction is A with respect to C?
(A) North—East (B) North—-West (C) South—East (D) South— West

AT AB DRI ATIRC,BDH q@ H & dl A,C & Hag H by 3w H &7

(A) STR- (B) StR—ulR=® (C) <fv-gd (D) <f&u—ufaw

One evening before sunset two friends Rakesh and Rahim were talking to each other face to
face. If Rahim’s shadow was exactly to his right side, which direction was Rakesh facing?

(A) North (B) South (C) West (D) Data inadequate

UdH UM B GARK H U8l & SR IHY AR BH JF—HMT T Gax I 910 a8 o |
Ife B B IRBTS UheH I0d e AR off al Yoy fag oo & 9= or?

(A) ST (B) <feror (C) uf¥gH (D) I ATATE
5,7,10,15,22, ...,

(A) 31 (B) 32 (C) 34 (D) 35

703, 655, 607, 559, 511,463, ...........

(A) 413 (B) 414 (C) 415 (D) 416

A father is, at present, three times as old as his son. Five years back, he was four times as old
as his son. Find the age of his son -

(A) 12 years (B) 15 years (C) 18 years (D) 20 years

Uep U, aaw H, Ud g | 19 O g €| U 9¥ gd 9 394 g A IR O 99 o |
T3 ®I MY T 2°

(A) 12 99 (B) 15 a¥ (C) 18 @Y (D) 20 9§
[f5%x9=144;7%x8=151;4x6=102,then2X5=......... ?

(A) 77 (B) 97 (C) 107 (D) 73
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47.

48.

49.

50.

Directions (Q. No. 47 - 50):

The figure given below consists of three intersecting circles which represent sets of students
who play Tennis, Badminton and Volley Ball. Each region in the figure is represented by a
small letter. On the basis of the figure, answer the questions given below.

P Q
RN ——— BADMINTION
() (dsfie)
— VOLLEY BALL
CISIFIS)

fader - (md. 47 — 50) :

SR & TG ARl H A rfaureie g &, off fqenfial & @gel @ SR exar 8 o
i, deffme 3R dfelldial Werd & | 3fTefd H AU U URie & bl Udh BICT &R gl
2| IMEHT & IR TR =7 AT 77 ye=i & IR <oy |

Which letter represents the set of students who play all the three games?

(A) b (B) ¢ ©) f D) g
DT e el & I FHE & q9Ar § Sl dFi Od Feld 8°
(A) b (B) ¢ ©) f D) g

Which letter represents the set of students who play Tennis and VolleyBall but not
Badminton?

(A) g (B) e © ¢ D) b

DT R [AelRil & 9 W BT WA © Sl <Y iR dfelidid Wed & UR dsfed
BEI

(A) g (B) e € ¢ D) b

Which letter represents the set of students who play Tennis but neither Badminton nor Volley
Ball?

(A) a (B) b ) ¢ (D) d

DT JeR el & I9 T Bl IWIAT & O M Weld © UR AT Al defre iR AT
Bl dfeildiel ?

(A) a (B) b ©) c (D) d

Which letter represents the set of students who play Tennis and Badminton but not Volley
Ball?

(A) b B) ¢ ©) d (D) f

DT R el & 9 FE B WA § ol <9 iR defied Wed § W dfeldtd
BEIf

(A) b B) ¢ ©) d (D) f
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51.

52.

53.

54.

L1

56.

Part-B/H1’T—d
GENERAL AWARENESS RAJASTHAN/ITHT ST XTI

What was the name of first Rajasthani film?

(A) Nijarano (B) Babasa Ri Ladli

(C) Bai Chali Sasariye (D) Mhari Pyari Chanana
¥ TSR fhed BT AH FaT a1?

(A) foRMT (B) & & ATSAl

(C) a1 =il ARy (D) ®|N GRI TN

Who took oath as Chief Minister of Rajasthan maximum number of times?
(A) Mohanlal Sukhadia and Haridev Joshi

(B) Haridev Joshi and Bhairon Singh Shekhawat

(C) Bhairon Singh Shekhawat and Hira Lal Devpura

(D) Shivcharan Mathur and Haridev Joshi

RIS & J&HAl & ©U H Halte R ooy fea «i?

(A) eI gESAT v gRaa S

(B) BR<eg SN vd #RIRGE eRamad

(C) ¥R W@Ed Ud ERTd Gayr]

(D) Rre=Ror ARR U4 sRad Sref

Degana region is known for which mineral in Rajasthan?

(A) Manganese (B) Coal (C) Tungsten (D) Iron ore
ST & o™ H ford @fet & forg S S &7

(A) AT (B) ®¥em  (C) Tied (D) dIE D
Who is known as ‘Gandhi of Rajasthan’?

(A) Bhogi Lal Pandya (B) Gokul Bhai Bhatt

(C) Janki Lal (D) Damodar Vyas

ORI & el & ®©9 # {58 SHr STrar 87

(A) T el gusa (B) TMdel WTE wE

(C) M@ ot (D) <MIER ¥

Where is the only bird hospital of Rajasthan?

(A) Jaipur (B) Ajmer (C) Kota (D) Jodhpur
RO 6T UHATS el ferfredrery daf 87

(A) SRR (B) ™R (C) el (D) SEYR

What is ‘Lag — bag’?

(A) Name of bird (B) Tax levied on farmers

(C) Name of cannon (D) Name of elephant of Man Singh
TN — 9T T 77

(A) fafear &1 9m (B) fhami R IRIMUT R

(C) qMY &7 9™ (D) HAHRIE @ g &1 9
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57. Rajasthan in its present shape came into the year-

(A) 1956 (B) 1957 (C) 1958 (D) 1959
RIS 37U qad ¥awd H T & ad—
(A) 1956 (B) 1957 (C) 1958 (D) 1959
58. Word ‘Rajasthan’ was first used by historian known as-
(A) Tod (B) G.N Sharma (C) G.C.Pande (D) Satish Chandra
e O’ BT Uil IR YN, = sfoger grT fhar Tar—
(A) Tfe (B) SNL.U. 3™t (C) S ¥l ue (D) O T=
59. Kali banga, an old historical site is located in the following district of Rajasthan :
(A) Bikaner (B) Ganganagar (C) Barmer (D) Jodhpur
HTAGIT, I b UfTETRIS I 8, 98 o & fbd e § Rerd 28—
(A) drBFR (B) TR (C) SR (D) SiEYR
60. The copper culture signs are available in the district of-
(A) Udaipur (B) Kota (C) Bundi (D) Alwar
qH Wpia & g fea el 4 Suaer 2—
(A) STAR (B) @Il (C) T=I (D) AR
61. The seervi, caste is in agriculture, they are found mostly in the district of-
(A) Kota (B) Jaipur (C) Jodhpur (D) Bharatpur
Rl sfa = 9 1 2, A ffdeiee: foa e § 018 Sl 8—
(A) reT (B) STAYR (€) SImMgR (D) ¥RAR

62. Sisodias of Mewar were regarded as-
(A) Suryavanshi (B) Chandravanshi (C) Agnivanshi (D) Nagvanshi

Hars & A|IfeAmei o1 7= HH1 SIrar 5—
(A) e (B) =rgae (C) st (D) ArTEeh
63. The first formal grammar of Rajasthani was written by the following -
(A) Jayasimha Siddharaja (B) Udyotan Suri
(C) Bhoja (D) Hemachandra Suri
RIS D1 U8l / JNTaTRe AThRoT fordl T8, 771 & gIRI—
(A) ST Ryeer RagRre (B) A I
(C) e (D) Ta= T
64. Who among the following is a famous singer of the Jaipur Gharana of Music?
(A) Bhim sen Joshi (B) Jasraj (C) GirijaDevi (D) Malikarjun Mansur
Gl @ SRR BRI @ URIg HHIAHR DI S S 8-
(A) e St (B)  STRIST (C) MRST g (D) AfT®A AR
65. Phad paintings of Rajasthan belong to the following school of paintings-
(A) Jaipur (B) Kota (C) Mewar (D) Bikaner
RIS &1 Bs SR, fEde & 59 Wma ¥ el o—
(A) SR (B) IcT (C) Hat$ (D) TR
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66.

67.

68.

69.

70.

71.

72.

73.

74.

The Kalbeliya dance is from which district of Rajasthan -

(A) Jodhpur (B) Udaipur (C) Alwar (D) Jaisalmer
BT T I & fd Tl & 53—

(A) SIEQR (B) S&IR (C) el (D) SR
Bagaru print is from the following part of Rajasthan -

(A) Jaipur (B) Bharatpur (C) Jhalawar (D) Nagaur
9% &I BUTS VORI & fhd 3 4 8—

(A) SRR (B) ¥RAYR (C) SITelrars (D) FRIR
Bala Qila is located at-

(A) Jalore (B) Sawai Madhopur (C) Alwar (D) Baran
qrett fohen waf Rerd 8-

(A) TR (B) Ha§ ARIYR  (C) AR (D) IR’
Who is the longest serving Chief Minister of Rajasthan -

(A) Tika Ram Paliwal (B) Vasundhara Raje

(C) Ashok Gehlot (D) Mohanlal Sukhadia

ST # a9 o d §9F d@ e gl U8 W &R fear g—

(A) STBRM UTeiiarel (B) IR T

(C) aT9p TEalrd (D) e g

Daulat Ram Saran was addressed in Rajasthan as-

(A) Mahatma (B) Kisano ka Messiah (C) Babuji (D) Raja
Sleld MM ARV ®f oA H FHIfSd fhar Srdr o I8 fgds—

(A) HETCHT (B) oAl &1 wilgr  (C) ¥ S (D) oI

Rajasthan Vikas Party was established by-

(A) Brij Mohan Lal Sharma (B) Buta Singh (C) Heera Lal Shastri (D) Chhotu Ram
oI A aieh @t e &1 ofi—

(A) oI el Ml (B) 9cT g (C) €)1 & AT (D) BIcI™

Who is the speaker of 14™ Vidhan Sabha in Rajasthan -

(A) Sumitra Singh (B) Ram Niwas Mirdha

(C) Kailash Meghwal (D) Shanti Lal Chaplot

14} TSR fAem 99T & |ITIfa B 87

(A) g e (B) <™ fyasa fut (C) oo Auare (D) enidotTel auelrd

How many periods of rainfall are there in Rajasthan?

(A) 2 B) 1 © 3 (D) 4

RIORATE H 997 BT FFY fha+ IR BIaT 87

(A) 2 B) 1 ©) 3 (D) 4

Indira Gandhi canal was necessitated by-

(A) Rains (B) Winter (C) Water Scarcity (D) Hot summers
SIERT WY 8% BT 3MILIHAT gs—

(A) oI WA (B) <l ¥ (C) UMl & 3Md ¥ (D) SAH TH A
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75.

76.

77.

78.

79.

80.

81.

82.

83.

River Luni originates from the following district -

(A) Nagaur (B) Ajmer (C) Tonk (D) Churu
S ST BT ISIH oI, i 57l | 28—

(A) IR (B) 3SR (C) <Tid D) TI&
Famous Chand Baori is located in the district of-

(A) Kota (B) Bharatpur (C) Alwar (D) Dausa
uRig dig drder Rerd §, = forer o

(A) ®le (B) "RAR (C) 3R (D) <9
Which city in Rajasthan is called ‘Blue City’?

(A) Udaipur (B) Ajmer (C) Jodhpur (D) Bikaner
Mo ¥ i 98R &I HIell e’ HET Sl 27

(A) SR (B) 3TTR (C) SIEgR (D)  dIdR
Garden Bada Bagh is situated at-

(A) Jaisalmer (B) Bhilwara (C) Jhalawar (D) Hanumangarh

e 997 91T Rerd g—

(A) SIIR (B) ¥eTarsT (C) SITelTaTS (D) BIATNIG

Vijay Singh Pathik, a freedom fighter of Rajasthan, published a newspaper, known as-

(A) Rajasthan Kesri (B) Navin Rajasthan (C) Prabhat (D) Rajasthan Patrika
faora Rig ufde, oI & Iaddl d9HI, S U GAER UF dren, S g9 A |
NATAT SITCT &AT—

(A) IORIE dN (B)  FdH IeRIE - (C)  9HId (D) IoIRRIE Uil
Habib Tanvir’s Film Charan Das Chor was written by which Rajasthan writer.

(A) Malchand Tiwari (B) Harish Bhadani

(C) Vijay Dan Detha (D) Arjun Deo Charan

BdId AR @I el TRAGT IR oRE & b oikgsd g1 fordl 8?

(A) Hlerde faary (B) BT AT

(C) fasma <= <o (D) 3G <9 TR

Who among the following was awarded Padma Vibhushan from Rajasthan?

(A) Komal Kothari (B) Vijay Shankar Vyas

(C) Natwar Singh (D) Naresh Chandra

o | e | 9 e uew fanmor o\ faeam -

(A) HHET BIORI (B) faora sier =g

(C) TR RiE (D) I T

Kamlesh Nagar Koti played for India Under 19 Cricket World Cup in the year -
(A) 2016 (B) 2015 (C) 2018 (D) 2014

FHHAY AR PIfC IRA e 19 & fIvg oy # Werr g, f= a9 # —

(A) 2016 (B) 2015 (C) 2018 (D) 2014

In Arid Desert of Rajasthan, India shares international borders with -

(A) Nepal (B) China (C) Pakistan (D) Afghanistan
RIS & Y XA H R 37U SRS HHT AT bRl &, 7 & 1 —
(A) =Turd (B) I+ (C) i (D)  STHIMRAT
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84. North Aravalli Region of Rajasthan include the following district -

(A) Dausa (B) Sirohi (C) Ajmer (D) Tonk
IR IR &5 # o &1 =1 [y |fafera & —
(A) < (B) RRE (C) 3T (D) <id

85. Panchayati Raj system in India was inaugurated in Rajasthan at Nagaur in the year —
(A) 1958 (B) 1959 (C) 1957 (D) 1956
GRTRICH ISRl 1 SR™ AR H, ISR & ARIR ¥ fhd a9 H garr?
(A) 1958 (B) 1959 (C) 1957 (D) 1956

86. Traditional leader of Meena community is known as -
(A) Patel (B) Bhagat (C) Karma (D) Mukaddam
AT TG HT IRARET -l 39 A1 F ST Il & —
(A) Ucd (B) wid (C) Al (D)

87. National High Way 8, which connects Delhi with Mumbai, passes through Rajasthan. It runs
into how many kilometres in Rajasthan?
(A) 700 (B) 560 (C) 688 (D) 720
ST AW W& 8 T el Bl g W SiiedT @ o™ ¥ IORdT 2| I8 Ao |
e fpalr Hiex &t 27

(A) 700 (B) 560 (C) 688 (D) 720
88. Central University was established in Rajasthan in year —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
RIS H dea1d fdeq fdermerd & =T gg 99 —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
89. Sahitya Academy, Delhi award for Rajasthani in 2017, was awarded to -
(A) B.L.Vyas (B) Ambika Datt (C) Hetu (D) Neeraj Dalia
Iy 2017 DT AIMS fbIaH!, faoell BT ISR DT RIBR el Her —
(A) d1. Ual. @ (B) ifddr & (C) =g (D) ReT Srferar
90. Banasthali Vidyapeeth was established in the following year —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
Il fa=mdie &1 wermaer =1 ad H g3 —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
91. Who was the first Woman Chair Person of Rajasthan Human rights commission?
(A) Kanta Kumari Bhatnagar (B) Prabha Thakur
(C) Narendra Kanwar (D) Usha Meena
RTGIRAT AFATEBR RN B Ugell Algell fede] i ofl?
(A) Il HARI HCSANR (B) 94T SThX
(C) = B/ (D) T Hom
92. The first Woman Chief Secretary of Rajasthan was -
(A) Meenakshi Hooja (B) Kushal Singh
(C) Otima Bordia (D) Amarjeet Kaur
RIGIRAT DI Yo Higell g e off —
(A) ¥l golr (B) dIal g
(C) anfasr S (D) 3RS HR
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93.

9.

9s.

96.

97.

98.

99.

100.

‘Hela Khayal Dangal’ is famous in which district of Rajasthan?

(A) Dausa (B) Jaipur (C) Bikaner (D) Pali

2T TS &3l IR @ fod el # ufig 27

(A) < (B) SR (C) PR (D) dTel
‘Pichwai’ art is related to-

(A) Meera bai (B) Ram-Sita (C) Mahadev (D) Shree krishna

Ueds’ T THERT
(A) IREE ¥ (B) WA ¥ (C) HIQd ¥ (D) g |

According to 2011 census the lowest density districts in Rajasthan are-

(A) Barmer - Bikaner (B) Jaisalmer - Barmer

(C) Jaisalmer - Bikaner (D) Jaisalmer - Churu

2011 B SIRIUET & ATAR RS H —AqH b7cd dTel [STel o—

(A) IR — dIPR (B) SR — dISHY

(C) SR — dIdIR (D) SHTR — TS

The first wind power plant of Rajasthan was established in-

(A) Amarsagar - Jaisalmer (B) Bithadi - Jodhpur

(C) Devgarh - Pratapgarh (D) Mohangarh - Jaisalmer
RISRATE BT U2H Uad ol G5 RA1Ud fhar Tar &—

(A) IRATR — ST (B) dI5$T — SEgR

(C) TIIE — UdIIIe (D) HIETTE — STHeTH

‘Bari’ ornament is worn in-

(A) Neck (B) Nose (C) Ears (D)  Wrist
IR’ YT YBAT ST 2—

(A) Tt H (B) & #H (C) &I H (D) @ H
Where did the reign of Maharana Pratap take place?

(A) Chawand (B) Gogunda (C) Udaipur (D) kumbhalgarh
HERTU YA BT RTSTfcTeld DEl GIAT AT?

(A) =rds (B) TIR[=T (C) SR (D) BB

Name the person who was expelled by Ratan Singh from his court and later he went on
asylum to Alauddin khilji-

(A) Sunder lal (B) Madan lal (C) Raghuji (D) Chetan Raghav

S AfFT BT A I8y O IqRIE T U SRAR | dTer fear o, der 91 H a8
STATIEIA Reefsil BT IRV H <elT 17 |

(A) Ygx offet (B) #TcTeT (C) gl (D) ddd TEq
‘Bhomat’ area in Rajasthan is related with-
(A) Udaipur (B) Banswara (C) Bhilwara (D) Alwar

ORI H HIFe’ o3 AHfed 8—
(A) SR ¥ (B) didrer | (C) AT ¥ (D) IR |
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101.

102.

103.

104.

105.

106.

Part-C/9T—4d
Teaching Aptitude / Rreror_sif¥rersar

The education given to the students by the teacher should be :-

(A) Professional education (B) Scientific education
(C) Related with Culture and spiritual (D) All above

e gRT BT & &1 WM arel R = @ de6fta g Ay —
(A) TR =aafi¥e (B) dsM® &

(C) HRpId Ud AATH | Heed & (D) Sudad a1

Depends on the teacher’s awareness -

(A) Teacher’s knowledge (B) Teacher’s financial Status
(C) Teacher’s popularity (D) Teacher’s Resourcefulness
TS BT SITHHAT TR AR HRar & —

(A) IAID BT S (B) 3reums @ s Rerfd
(C) TP &I =T (D) 3D B FAAYIdT

If there is a political debate, then you -

(A) will actively participate (B) will enjoy

(C) will be one sided (D) will not pay attention
afg HET ASITas 989 8 I8l &, Al Y —

(A) fhT 9T < (B) oT+ig il

(C) f&H<r s geT oY IR BT (D) €I A8} <

All round development of students can be done -

(A) By providing education facilities

(B) Through realisation of Social Responsibility

(C) By considering the interest of students themselves

(D) By giving them money

BIE1 BT FaNoT e fBar o1 Faar & —

(A) TRreror giaem qax (B) AmMINTG SR &1 91T H_Id
(C) B HWI & f2d & I T (D) AP &9 TdR

The leader of the group can only give successful leadership when he will :-

(A) Be patient (B) Be disciplined
(C) Be serious (D) Berich

HHE BT Il T T Fgcd @ AhdTl B, O a8 —

(A) eI & (B) - B
(C) THR & (D) o+ Bl
Complex and difficult subject matter should be taught -

(A) According to students (B) In Sections
(C) Afterwards (D) Inbetween
SIfee T S favzawg &1 fRuefor s anfed —

(A) BHEI & ATAR (B) wvsi H

(C) @7 H (D) dra—da ¥
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107.

108.

109.

110.

111.

112.

113.

The best way of studying evils in the nearby society is by-

(A) Contact with students (B) Contact with parents

(C) Social survey (D) Book study

e FATST H T qRIgAT BT AT B DI HAH AET © —

(A) BHET I GUSD (B) If¥qrasdl & HUD

(C) \MIT® qdeTor (D) YKId eI

Effective decision making depends on -

(A) Leaders (B) Members

(C) Both Leaders & Members (D) Interactions between the two
gl fvfag—famior iR o=ar & —

(A) 9T W (B) eI W

(C) =T Ud 9, Tl W (D) Sl & Feg ofa: fhar wR

I often get angry when people -

(A) Do not agree with me (B) Talk about their own interest
(C) Blame some innocent (D) Quarrel with each other

qel TR hIY AT B, 5 AN —

(A) T 91 & A § | (B) U+t w@ref @7 9Td B |
(C) fo=ft feiy @1 9 < B | (D) 3T H SATST B B |

How to improve Education?

(A) By administrative reform (B) By changing the method of examination

(C) By spending more money on education (D) By recruiting best teachers

Rrem # GuR fow yaR d9a 27

(A) YRINIMG gUIR §RT (B) uiEm ygla H§ yRads wxab
(C) T3 WR 31fdd &9 g Db (D) =i Riegl &1 Fgfad axad
If the students do not understand the text the teacher should -

(A) Explain again (B) Start next lesson

(C) Talk to Principal (D) Ask questions

BIEl BT UT6 A H Tl M WX eATqdh Bl Ay fb —

(A) TIRT HHSRIAT (B) 3RTcT U8 YT PR Il

(C) Y= & 9T BN (D) U gBI

What should teachers do to get rid of theft habit in students -

(A) Explain ill effects (B) Explain with example

(C) Give punishment (D) Scold

Bl § AR B 3fad Yo & o edUD Bl T BT aled?

(A) TR qam =2y (B) STIERV TR HHIHT ARy
(C) ¥ <1 =1y (D) T qax

Selection of subject requires -

(A) Scholarship (B) Educational guidance

(C) Professional guidance (D) Choice of students

foral & = & ford smaw® § —

(A) fagar o1 (B) 3fers e @

(C) IgalR¥iep faeE &I (D) BT B STHT B
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114.

The teacher gets good information about the events of Country and abroad -

(A) From history books (B) From Newspapers
(C) From radio news (D) From world tour
IEYH BT < — IS BT "Rl B el JAFGRT U 8l & —
(A) 3B & gl 4 (B) THRIR—IT &

(C) STl a9 (D) faeg yqor 9

115. While teaching in the class, the teachers should —

116.

117.

118.

(A) Seek active cooperation of the students.  (B) Keep the students as passive listeners.
(C) Do not pay any attention to the students. (D) Remove the difficulties of the students.
Pell W U \Hy, fIeTdl BT ey —

(A) BET & AT FEANT & T B | (B) BT &I s siart & wU § 9 |

(C) BE R Blg &9 9 ¢ | (D) BTAT B BT BT T B |

To motivate students in the class, the teachers should —

(A) always praise their students.

(B) always criticize their students.

(C) judiciously use praise and criticism. . o
(D) give such comments which neither indicate praise nor criticism.

P&l H BIA DI URT B & oy, Rierdl &1 A1i8y —

(A) BHI (U BIAT B ARTEAT BN |

(B) THIM (U BT BT ATATAT PN |

(C) fads & Ui 3R STTeA=AT BT SUANT BN |

(D) U fewfra < S 9 € SR8 iR T 8 Saraa R B |
During teaching in the class if a student asks question, the teachers should —
(A) give correct answer immediately to him.

(B) ask the student to come after period for the answer.

(C) scold him and tell him not to disturb the teaching.

(D) not pay any attentlon and continue his teaching .

FHET H g™ & R Udb BTF U YBdl &, e &1 @y —
(A) S dohlel Fel SaTe < |

(B) ©TF B SR & U BIeiel & §1g 31 & forv o8 |

(C) 9 Sic 3R S e BRI § 9rer S~ 9 B |

(D) BIs &I 7 < 3R 0+ R & oY [ |

The basic responsibility of teacher in the class is —

(A) to promote learning in the class.

(B) to extract school’s fee from the students.

(C) to arrange the records of the students of the class.

(D) to give extra importance to the students having tuition.
FelT # et o7 qoT e § —

(A) PET H IAfTH BT 9T |

(B) ®BTH ¥ fqemer e a9 |

(C) ®e & BEl & RPbre I AARAT HRAT|

(D) TYIE dTel BIEI BT AfdH Ag<d AT
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119.

120.

121.

122.

A class teacher is expected to behave with his students —

(A) more loving with intelligent students.

(B) reluctance towards poor students.

(C) equal behaviour with all the students.

(D) behaviour according to the expectations of the students.

T Hel RIeTd Bl 3T BIE & W1 IR B B I T —
(A) FEA™ BEI & A1 &6 IR |

(B) "RI9 BT & Ufd 31l Td |

(C) wl B & AT A Fd8R |

(D) BHEI & IFIRT & JTAR TSR |

The teacher is considered to be the guide, because —

(A) he has unfathomable capacities to build the future society.
(B) he is a symbol of social belief.

(C) heis a guard to the society.

(D) he is indulged in giving shapes to frustrations.

e 1 AN gefe wFT SITaT B, dife —

(A) STH 9fa=1 & F9o1 & AT B 3rerE eHar | |
(B) 98 MIfTe fazars &1 udid B |

(C) I8 9AS & foIv U IareT & |

(D) 9% $HoMRI B AMHR o1 H ford 2 |

Teaching should be mainly done by —

(A) Skilled and trained teachers (B) Untrained persons

(C) Experienced teachers (D) Young talented persons
fRrefor g wU 9 ... g1 fbar ST =2y |

(A) HI IR grIferT el (B) amufdrfera safdaat

(C) vl fRrefeni (D) JaT yfTRITetl i
To inculcate human virtues among students as a teacher —

(A) you will not do anything wrong so as not to send wrong message to the children.
(B) you will reflect all those virtues, which you wish to imbibe.

(C) you will continuously tell them and make them understand.

(D) you will bring change in the children to suit the present context.

e et & wU H BIEl H Ad—0N Bl [dHa d1 & oy —

(A) 3Y B I TAd el DY dlich ged Bl TAd AQel AT S |

(B) a1Md 391 I T[0T I gfafdfdd &3, = o1 ST Ra=T amed & |

(C) MY I8 THIIR a1 3R I FHSIU |

(D) 3T IGH HaH & AwY el H gaard e |
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123. The monitor of the class should be —
(A) The most popular student of the class. (B) The loving student of the teacher.
(C) The most powerful student of the class. (D) The extrovert student of the class.
BeTT BT AFICX BT AMEY —
(A) DT BT g9 ATHOY et | (B) et &1 wRT faemedt |
(C) e BT Fg9 rfacemmen faemeft | (D) @& &1 S femeft

124. Teacher can develop moral values in students, because —
(A) Teacher has ability to motivate students.
(B) Teacher is role model for students.
(C) Students have fear for teacher.
(D) Students follow every instruction of teacher.

et BTAl 4 e gl @1 [9HRd FR Fdhd &, Rifd —
(A) Prere & faenfia o1 aRd &xa &) emdr 2 |

(B) Ruers faenfefai & fog amesf 2 |

(C) faenfRii & Rrre & ufa v 8T &1

(D) faemeft Rere & yde ke &1 gre &vd 2|

125. Suppose a gifted student is sitting in the class and gives quick answers to all your questions.
What would you do with regard to your student?

(A) you will ask comparatively difficult questions and persuade him not to become
impatient.

(B) you think that he must give all the answers quickly so you can feel a sign of relief from
your responsibilities.

(C) you will tell him that this is an unhealthy behaviour in the class.

(D) you will ask difficult questions to answer so as to make him realise him that you are
among one of the best teachers.

A AU MUBHT BT H Teh GIaITIMell BT §67 § 3iR 3Mgd I Ui & @Rd SR

ST & | Y U BE & ey H RT B0 ?

(A) 3T JoIHS w0 H HioT U Yui 3R 39 MR 7 84 & fog A1 |

(B) 31g |Fsd ® fh S qRa 9 STR © <7 A1y aifds iy sroen RweIRaEl | gad
&l X |

(C) oMY I Hedl & Ferm # iR BT MUY IR % |

(D) <y faemt ¥ rafde Sifed ued guv Rt S I8 Ue9d 8 & oy aad 3w
fRreri # & TP 2|

126. This is believed that female teachers are more suitable for primary level teaching because —

(A) They work patiently and affectionately with children.

(B) They have less opportunity for other professions.

(C) They agree to work on low salary.

(D) There is no need of high qualification for this profession.

Tg AT o1l & & Aften R mofie W @ R @ forw sifte suged € aifs —
(A) T 9= & A1 RYHF IR IR A B T & |

(B) S UNT 3T FIArdl & folU F 31a9R 2 |

(C) d B9 Id9 TR 1Y B3 & foIv Fgqd Bl 2 |

(D) 39 U & oIy Sod ARIAT DI DIy IMaeTHdl el & |
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127.

128.

129.

130.

When you instruct a person to close the door and he strictly follows the instruction, then it
can be concluded that —

(A) You have given an effective instruction.

(B) The message has been received by the receiver.

(C) The message has been well explained by you.

(D) The receiver is ready to accept your order.

ST 3T bl fdd &7 SRASTT 9§ B &I 49 <0 § IR a8 dsls A A< &1 ure™
AT & dI I8 py APprarr o |aar g fb —

(A) Mo Te g9l fader faar 2

(B) << UTE gRT U fham rr ? |

(C) 3O |9 Hell wife we fhar 2|

(D) TS ATUD ARSI DI WIHR B & o IR B |

Communication in classroom depends on —

(A) Teacher’s ability to explain (B) Difficulty level of Subject
(C) Student’s ability (D) Class — room interaction
BET BT H AR R FRaT ® —

(A) TRreTd &1 W BT BT &HAT TR (B) fawa &1 #f3AE WX W)
(C) faenferai &1 Irgar w (D) eI fd:fhar W

A teacher should —

(A) Earn money as much as he can.

(B) Make efforts for educational upliftment of students.
(C) Work for students benefits.

(D) Take care of students.

U R1eTd BT ST AT —

(A) SNfBIEE AT § &9 HHET |

(B) BEl & 3Afed S@H & folv TRy |

(C) Bl & 8d @& ®R |

(D) BT B TEHIA |

The reason of highest rate of dropouts in rural areas is —

(A) Irrelevant curriculum

(B) Poverty

(C) Eagerness for quick employment

(D) Inappropriate interpersonal relations with teachers

IoT &A1 H fJere™ Bre Tl &1 |alfdd &R BT R & —

(A) IUTHNTS UISAHH (B) &

(C) @RT IR & Ty Igadhar (D) TRrerpi & |rT Sugad URWRE Hae
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131.

132.

133.

134.

How can a teacher establish warm relationship with his students?
(A) Always laughing with them.

(B) By making suitable distances.

(C) By hearing their difficulties and resolving them.

(D) By making students his friends.

g e o BTAl ¥ MR Gy fhd ISR wfid wR Adhdr 2?
(A) ST 94 Bl Aol RS |

(B) S Sfd g TN |

(C) D! FHIRAT Bl G & d1a IADBT G B |

(D) BT &I {0 A7 g9 |

If some poor students want to study in extra time from you, then you —
(A) Ask them to take tuition.

(B) Keep them off.

(C) From time to time meet their difficulties as needed.

(D) Send them to another teacher.

afe @ feiF o oo sifaRad w7a # ue @red €, dF e —
(A) STBI TIE o & oy HEa |

(B) S8 <Teld & |

(C) MMITIHAT ATAR FHI FHI TR D! HISARAT Bl YT Il |
(D) S bl =g RBrre &y 9ol |

During the educational journey, a student fights with an old man about the place of seating,
then, what will you do?

(A) will take the side of the student. (B) will explain him to respect elders.

(C) will ignore it (D) will interfere to resolve

e AT & SR 9671 BT SIS Bl dAdx T B (Bl 9§ ¥ 30Ts doal &, ar § —
(A) B BT YeT I | (B) U HHIMS fh g1 BT MR X

(C) S IFSET BT | (D) fUem & foy e |

It is necessary to give details of the student’s progress to the parents so that —

(A) Parents can know the progress of their children.

(B) This gives proper guidance for parents to organize tuition.
(C) This keeps children in fear.

(D) Children can not give wrong information to their parents.

BTAT DI YT BT ART AFAHTADT BT AT SMATIH & —

(A) o9 MAYTIH 3199 gai B YIfe S Fohdl 2 |

(B) SHH AMIED B TIIF R & SFod Aelrg el 7 |
(C) 3O dedi § SX 97 ¥gdl 2 |

(D) 9 AWITGh BT Teld TGN T8l & Fhd |
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135. If you are evaluating, then you will —
(A) provide marks according to the work.
(B) give more marks to those who study tuition from you.
(C) give rich students more marks.
(D) give more marks to weak students.

Ife 3T JeAid o) I8 8, aT ST —
(A) BRI & JTAR Bl 3P TS HYl |
(B) S= 3 3 < S MUY <Y UG § |
(C) MR BT Bl 3fd 3 < |
(D) fIos ©HEl oI 31fdd 3id 3|
136. A teacher should use audio visual material, because —
(A) Student’s interest is created in the lesson.
(B) The focus of student’s attention remains in learning.
(C) It helps in realizing knowledge and diversification of text.
(D) All of the above.
U IeAID Bl GeI— A BT GART HRAT MM, Filfh —
(A) ©TEl B TS H B B&dl B
(B) ©TAI &I &I UglE H dfvgd & € |
(C) S P aRdfdd ®Y Y= Hx- g Ul § fafdedr o= § |8 gl § |

(D) SURIGT a4 |
137. Class—room communication should be —
(A) Teacher—Centered (B) General-Focus
(C) Learner—Centered (D) Test book—Centered
PeT—he] TR BT ARy —
(A) R afaa (B) WM dfvad
(C) BE di~ad (D) UIGIYEIDh Bivad

138. While using ICT with teaching in class —
(A) No teacher will be required
(B) More work load will be there for the teacher
(C) Teacher’s role will be as a facilitator
(D) Teacher’s role will be central
P e § ICT YYad dhRad FHd —
(A) 3D Bl AITHdT Te] X2l |
(B) eTUh b v HrRIVR 31fdih B ST |
(C) IATH BT HAST AAGIH & wY H &1 |
(D) 3MEATIDH BT BT dwrg B ST |
139. The status of teachers in the society should be high because they -
(A) Do great mental work (B) Meet people of the society
(C) Prepare future citizens (D) Do more labour.
AT # RIegdpl &1 W) Sa1 21 A1y, aifds 9 —
(A) IS qHRID BRI B 2 | (B) WU & @l & fAerd &1
(C) Y ARTR®I BT TIR B & | (D) 3Mferd 519 B ¢ |
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140.

141.

142.

143.

144.

For a teacher to make a place in society -

(A) Must stay in political party.

(B) Must fulfill his obligation.

(C) Keeping one self active in the activities of society.
(D) Accumulating more money for becoming influential.

R1efep T A | I g9 & for’ —

(A) ot somfae ot § e anfed |

(B) 31U+ TR T =T Ay |

(C) A &I Tfafaferl & s &1 |Afshy =T =nfed |

(D) 31fdp W 31fdd &9 g BB 304 YU BT QT a1y |

As a teacher, you would like to devote your evening time to what work?

(A) In discussing politics (B) In entertainment work

(C) In other activities to earn money (D) In social work

U UG & w9 H MY (U A BT T7I {6 Bl | =T g Ha?
(A) XTSI @ ==l dRA H (B) HARSH Hral #

(C) o+ "It & o=y ®rl H (D) ISR At #

A successful teacher is one who -

(A) Gives good marks (B) Checks homework regularly

(C) Keeps strict discipline (D) Remains aware about the progress of students
Ahel Rerd a8l 8, S —

(A) 3T 3P aT § | (B) affd Tedr <@ 2|

(C) HOR IR & 2 | (D) BT Bl YT & Ui FoRT I&aT © |

Which of the following criteria would you follow when punishing students -

(A) frequency and seriousness of offence.

(B) equal punishment for all without discrimination.

(C) only the seriousness of offender.

(D) only the frequency of offence.

MY BHEI BT §v8 od | 9 H ¥ {69 AUGUS &7 uTad $Hil?
(A) STURTE DI 3Mgfa Ta THRAT

(B) fo=1 for=t Wewra & ¥ &1 w9 TUS

(C) act URTEN BT THRaT

(D) @act 3R Bl AR

If a student regularly comes late in school then you will -
(A) Complain to his parents (B) Find out the reasons
(C) Remove student from school (D) Punish the student in front of all students

I Th oI IR fdeney d fAde & omar §, O —
(A) S9D JIfWTad] & Regd x| (B) 39D RN &1 gal i |
(C) ©BTF &I faemey 9 et <) (D) T BT & A S gfvSd dN |
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145. When would you like to take additional responsibility as a teacher?

(A) For new knowledge (B) For praise
(C) For promotion (D) For Co-operation
e & wU ¥ MU B9 AR ITRQIAE ol 2T ?
(A) T IE D o (B) U™ & fory
(C) ueHEfd & for (D) @AM & for
146. The best way to create awareness is through-
(A) Family (B) Society
(C) Books (D) Companion
ST UST B & ford |atas e € —
(A) TRAR (B) AT
(C) Y& (D) T ARl
147. ......... helps to increase the general knowledge of the teacher -
(A) Students (B) Fellow teacher
(C) Newpaper-Magazines (D) Family members
JLAUD BT FHI—H g § A8dh & —
(A) B (B) <l 3regusD
(C) TF—UFHIY (D) URAR S
148. Main objective of education is -
(A) Development of language skills (B) Development of Social Citizenship
(C) Give punishment (D) Personality development
R &7 v T ST ' —
(A) 9TST BT &1 fadr (B) WIS ARG &7 fadr
(C) <Us <Al (D) fda fasra
149. Successful leadership is -
(A) Democratic (B) Monarchic
(C) Group based (D) Dictatorship
Al g BT & —
N SISIERE (B) IoIdifd
(C) HHq TR ) EGIEINIE]

150. Teachers in the teaching profession do tuition because -
(A) Students force them to do this.
(B) Their greed for wealth has increased.
(C) Their Salary is low.
(D) With growth in their knowledge they want to disseminate it.
AT g H RIeTd TIIE HRd B, Fifh —
(A) B S= VA1 B B o 91eg B © |
(B) SEdI &F—ATQUdT 9 TS 2 |
(C) S9HT I HH B |
(D) W@ & o9 # 31f9gig 89 9 I U S HT TR AT =18 o |
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151.

152.

153.

154.

155.

156.

157.

158.

159.

Part-D
Language Proficiency-English

Person who loves books and reading -
(A) Philologist (B) Bibliophile (C) Misogynist (D) Misologist
Directions : (Q.152-155) Read the given passage and answer the questions that follow-

At this stage of civilisation, when many nations are brought in to close and vital contact for
good and evil, it is essential, as never before, that their gross ignorance of one another
should be diminished, that they should begin to understand a little of one another’s historical
experience and resulting mentality. It is the fault of the English to expect the people of other
countries to react as they do, to political and international situations. Our genuine goodwill
and good intentions are often brought to nothing, because we expect other people to like us.
This would be corrected if we know history, not necessarily in detail but in broad outlines, of
the social and political conditions which have given to each nation its present character.

Mentality of a nation, according to the author, is a product of ................

(A) Present character (B) Politics (C) History (D) Geography
The character of a nation is the result of its-

(A) Ignorance (B) Cultural heritage

(C) Socio political conditions (D) Mentality

The need for a greater understanding between nations-

(A) is more today than ever before (B) was more there in the past

(C) 1is no longer there (D) has never been there

‘Genuine’ in the passage means -

(A) Historical (B) Political (C) Real (D) Fake

Directions : (Q.156 - 158) Choose the correct alternative -

............... car must be insured.

(A) A (B) An (C) The (D) Al
Everyone expected the same team ...............

(A) to win (B) was winning (C) won (D) will win
It took longer ...........ccoceevinnnin. I expected.

(A) though (B) but (C) than (D) then

Directions: (Q. 159 —-160) Change the following sentences as directed in the brackets-

Only a coward would say so. (Transform into Negative)-
(A) Not even a coward would say so (B) None but a coward would say so
(C) A coward would only not say so (D) No coward would say so

NKP-2018 (Series-D) Page 26 of 32



160. Mohini is more beautiful than Mitali. (Use positive degree)-
(A) Mohini is not so beautiful as Mitali. (B) Mohini is rather beautiful than Mitali.
(C) Mitali is not as beautiful as Mohini. (D) Mitali is as beautiful as Mohini.
Directions: (Q.161) Choose the correct Tense-

161. I.................. the stadium long before the match.
(A) reach (B) was reaching
(C) had reached (D) had been reaching

Directions: (Q.162) Change the Direct narration to Indirect narration-
162. She said to me, “What are you doing?”

(A) She asked me what was I doing (B) She asked me what am I doing
(C) She asked me what I was doing (D) She asked me what were you doing
Directions: (Q.163) Choose the correctly spelt word-

163. (A) Dicease (B) Disease (C) Desease (D) Diseese

Directions: Find one word for the group of words given below-
164. A person with long experience of any occupation-

(A) Veteran (B) Wizard (C) Genius (D) Expert
Directions: Choose the correct Synonym of ‘Eradicate’
165. (A) Emerge (B) Uplift (C) Remove (D) Increase

Directions: Give the correct Antonym of ‘Compassion’-
166. (A) Anxiety (B) Hatred (C) Connection (D) Conducive

Direction : (Q.167) Choose the option that is correct-
167. The teacher was too angry that she left the classroom-

(A) The teacher was very angry that she leave the classroom.

(B) The teacher was so angry that she left the classroom.

(C) The teacher was too angry and she had left the classroom.

(D) The teacher was too angry but she leave the classroom.

Direction : (Q.168) Choose the option with the word that is closest in meaning-
168. Abandon-

(A) Try (B) Join (C) Forsake (D) Adopt

Direction : (Q.169) Choose the option with word opposite in meaning-
169. Entangle-

(A) Twist (B) Untwist (C) Hook (D) Impede
Direction : (Q.170) Choose the correctly spelt word-
170. (A) Abbreviate (B) Abreviate (C) Abrreviate (D) Abriviat
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171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

HT—<

AINT e - fewd
P a%g BT T BT Ihe AT DI ST ATl JBTaRT o—
(A) SifEl § e (B) 3id TR B
(C) SifEl # T A=A (D) 3R e
“DIRI—D TR TG AT, TR BRI TR oo “| g e $HIs BT WK HRAT
=14
(A) (B) 9T (C) drel (D) fafd
1 # argg omelRe @vs 23—

A) F+9=& @B T+I=3 (C) T+I=% D) Y+I=4
TAA—IgHd BT 3 H o

(A) =g-39 (B) STSHI—3SIAT (C) Uel—ga@=l (D)  <fe—gy

“IA SR DI | AR H Pl WS o

(A) HMEY YadTd (B) 3~ qadrd (C) Yol Yddiad (D)  HHRI acH bl

=1 & 99arae ST el 8—

(A) dEud (B) 99 Rl (C) do& (D)

el a1 Ul © Arfds ST YRR u_ielm | =g+ 8l Sy Waﬁmq—q-g_
(A) e T FeaT (B) ST e RGN Wy ded
(C) FHMIEHRY e dledh (D)

TH SN MM | aad H FIAT TN B

(A) Ubhdd (B) dgddad

(C) THIad & WRIF W dgdad (D) d9gged & WM R UHaad
SaEd TT o A e T8 8-

(A) <R (B) TSR (C) w&s (D) g€

et ¥ a1y gt wE o

(A) TR, ISTT, AT (B) am), URyy, eI

(C) gy, fewry, wremis (D) <Rw, TR, Siere

=1 & srgg faudaref e 8-

(A) ve—yfcoer (B) 3MRIe—1Ra® (C) Wi—Red (D) AHT—IMHIERI
gad, I1 e, 3, 94, 9e1 fors smanedt @ aref B

A) RIR (B) =7 (C) YR&R (D) ¥RT
YE AT GG I RN B—

(A) S ST 9 ST b ;3o (B) NIl § S+ drell : &
(C) e forar gar @ &<Id (D) <1 =T 83w &1 : ufad
IFEA M BT T SpefaRTd qETaRT -

(A) FA HT T (B) 3 TR TR TsAT
(C) 3T & °IS SISHI (D) 3FA &I gl
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185. “®ag FRIMAY 81 9 HI" | Alpifda o1 a1ef 5—
(A) gl @ e g @9 81 SRt &1 (B) g 3(UAT gedl Hel eiedT |

(C) T & A R JIER AT | (D) @I 3R < | S8 U I 2 |
186. JO7 A Bl <1+ arel fdded 28—
(A) <frad (B) weMH (C) Taf=m (D) #HRIEH

187. f=falRad & & srar 9 faeoe w9 =8f o—
(A) I + AP (B) IM + 39 (C) fa+ wH D) &+ =
188. ‘DI’ Ieq BT Aal AN faUg 82—

(A) wreT & foru &= (B) whIST BT &

(C) I 3R & (D) WIST 3R &5 & T8
189. HHIRY FHRT Bl T a1l fAhey 28—

(A) ABHA (B) Brgad (C) SFRY (D) SATSIEIR!
190. <7, €9 3R 3T’ BT AT dTell ST 28—

(A) SU (B) 349 (C) wufa (D) M
191. fa<ef 9T & SUWIH | 991 e B—

(A) YREBR (B) ¥RU< (C) 2rEIdhel (D) BRI
192. 9TgarEd dfgd IO | 949 e B I arell fdded g—

(A) UfER (B) o™ (C) orferr (D) THSERT
193, ‘319" Bl I I e ST B—

(A) UMD (B) =g (©) xRy (D) SIrcde
194, BT T g ‘HHA' BT GATFAr -

(A) 3™, Iqdh, Afeldd (B) faRma, sy, amery

(C) oraf+, efroft, Afer (D) Hfe™, AFRE, Idad
195. faure g &1 fauIaRie I 83—

(A) 93 (B) a_eH (C) g (D) fa

196. HI=9T fdded faam wreai &1 =&t <wifar 8—
(A) FE—fgg  (B) TRAT-ARHM (C) WIR—GART (D) IWT—faRmT
197. RR—AR’ w8 I BT 37ef BT 8—
(A) WRMDOICST—IHSI (B) 9gd 99T dh— IaHA
(C) WHE—HEDBT (D) Jg— I
198. T8l T, IGAT FEcll &, 98 < SUSS © | 9 o—
(A) 9ERT G (B) @gad qrd (C) A ar (D) forEmE® I
199. =1 % & foa Adey & ¥ o g -

(A) UTT:HI, T (B) I, <1
(C) fag, s (D) darcHifd, SbTg
200. AYE IT9T B—
(A) J&T WR Hrar drel & B | (B) ST Ud fGAM diferdt 2 |
(C) TRl W el 9 a1 | (D) I IMMAdBaral ART I |
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ANT—§
HYT AT - G¥Dhd

171. ‘&' granr: RfAfserRe STHYRE gfdqad WU Afaefi—

(A) B (B) A (C) M (D) AT
172. ‘g’ sfa Ue aTgardRed 3fRd—

(A) ¥ + dicddR (B) ¥ + geaddrR (C) 41 + dsadr (D) A1 + fA¥fasdar
173, I Tea FQHT favarRt: HuHRd—

(A) NI (B) ™y (C) <™ (D) XTI
174. 1Y 31Y[E aTaR™Ra—

(A) STEIHRATO: (B) fUgw: e

(C) SUTHTAT el (D) BTAT YT GSIH:
175. ‘SREGIOT Haf~a—

(A) Ud (B) ©§< (©) w (D) 3

176. ysH=T: faumae G Sia—

(A) SRR F2d1(B) ISR |ANT: (C) e < ueHq (D) W Ai~Thy: Higar:
177. 9g4ife THRIRY Ge oleforq 31—

(A) STRUSIG: (B) TEUGRIUE: (C) IRIUYGRIVEM: (D) SHIUGTRIYE:
178. ‘a1 yrw: wafa—

(A) T3 (B) dd—aidag (C) Ty (D) gaT
179. ‘<2ie:’ ARET U< YHfayear: ANT—

(A) G+ 3R (B) QA + 37 ©) MAql (D) S+ =
180. =1 ARy I[E—aTaay 3TRd—

(A) B HREISHSTIT (B) PTHA BHIENSAISTIA

(C) HFR HIENSHSITRI (D) BT BIEISASIRI
181. Urad:’ sfd e Afufdews: srfka—

(A) T + 3P (B) Ul + 3 (C) W+ 3 (D) Ol + 3
182. TifdfdaR: &:?

(A) Tifers (B) udoIfel (C) PrarAd (D) dRER
183. IMRI<IR YT Hic(der: i ?

(A) ffaer (B) = (C) dafaer: (D) Sfder:
184. HoRieR Agli—dgaa WU Afqgfa—?

(A) I (B) HoIw: (C) ®ar (D) el
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185

186.

187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

YhREY IR IR —

(A) 7 (B) die] (C) <= (D)
TS g ITRd—

(A) THR: (B) TR (C) SR (D)
“gre: fharnT . Aol g Reh: I wafcr—

(A) oTg: (B) Sudt (C) fepam (D)
AR ST BicT?

(A) 3reeTeen: (B) qarfdefer: (C) veHfdeier (D)
T gARAT UQ eyl ANT—

(A) <+ aq (B) <+ Iq © d+3q (D)
g faeid sfer * Rad: = Rd—

(A) drq: (B) Tl (C) gy (D)
IR SARAT U= URIIcar: IRT—

(A) g + vaq (B) & + vaq (C) ©1d + vaq (D)
HIDHGAR] ATBIHITAT TR BIRBH oo RITd—

(A) B%: (B) AHISTTH (C) 3UTeT=H (D)
raTeTIfGfIeRfqafarad &R &1 A5 wqae

(A) STATETH (B) HIG=H (C) &4 (D)
AEIIYal b: FH:?

(A) HHIRY (B) rima: (C) Tgey (D)
(A) Ta=<d o (B) =T (C) =i (D)
IRVl fIRIRIUT 9goiq:’ YA SEBRUMRG—

(A) T (B) HYSW: (C) Areficue® (D)
Tqw] g4I 313 BT el Jaxid?

(A) fo (B) (©) wEaq (D)
QR TAT T UGTAT NBR oo BT Ffer:?

(A) & (B) IS (C) fawt: (D)
JqUiEfe IY QAURARD! BT AT RATI—

(A) ggfer (B) WETH (C) T (D)
Rraisal:’ sl Seevy dR-fdwms: &7

(A) frar + = (B) RrEd + = (0)

fBra: + am=: (D)

/S
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